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Q.1 In a certain code language, ‘BABY’ is called as ‘BLACK’, ‘BLACK’ is called as ‘RED’, ‘RED’ is
called as ‘CAKE’, ‘CAKE' is called as ‘TABLE’, ‘TABLE' is called as ‘EYES'. What do we eat?

Ans X" 1 RED

/X 2.EYES
/< 3.CAKE
o 4. TABLE

Question ID : 5459276474

Q.2 A series is given with one term wrong. Select that wrong term from the given alternatives.

MHCW, PEFT, RBIQ, VYLN
Ans X" 1 PEFT

o 2.RrBIQ
X 3.vyw

75 4. MHCW

Question ID : 5459276467

Q.3 S1,S2, S3, S4, S5, S6 and S7 are seven students. S6 is taller than S5 but shorter than S4. S3
and S2 are shorter than S1. S5 is shorter than S3 but taller than S2. S2 is the shortest
among them. S7 is shorter than S5. How many students are taller than S5?

Ans X 1.2
X 2.5
W 3.4
X 4.3

Question ID : 5459276481

Q.4 In the following question, select the odd letter/letters from the given alternatives.
Ans  of 1.GDB

75 2.RPN
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/X 3.wus
X 4 MKI

Question ID : 5459276468

Q.5 In a certain code language, ‘TABLES' is written as ‘SELBAT'. What is the code for ‘CHAIRS’
in that code language?

Ans " 1 SCHAIR
/5 2.SRIHAC
o 3.SRIAHC
/5 4. SRICHA

Question ID : 5459276476

Q.6 Six persons P, Q, R, S, T and U are sitting around a circular table facing towards the centre. P
is third from U. Only U is between S and Q. R is to the immediate left of Q. Which of the
following statement(s) is/are correct?

I. T is sitting to the immediate left of S.

Il. Q is not sitting to the immediate left of U.
lll. R is sitting to the immediate left of P.

IV. P is not sitting to the immediate left of T.

Ans X" 1. 0lland IV

75 2.only
75 3.1andll
o 4 0onyiv

Question ID : 5459276480

Q.7 In a certain code language, ‘CAKE’ is written as “100’, ‘GLOW’ is written as ‘285'. What is the
code for ‘BACK’ in that code language?

Ans X" 1.105
/X 2.95
X 375
of 485

Question ID : 5459276475

Q.8 In the following question, four letter pairs are given. The letters on left side of (-) is related
to the letters on the right side of () with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Ans X" 1 ABCD - FGHI
75 2.1JKL - NOPQ
o 3.NPRT - suvY

75 4.RSTU - WXYZ

Question ID : 5459276470

Q.9 Six persons A, B, C, D, E and F are sitting around a circle facing towards the center. Only F is
between B and D, Only E is between C and A. C is to the immediate right of B. Who is the
neighbour of both A and F?

Ans X1 E
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o 20
/X 3B
X ac

Question ID : 5459276477

Q.10 In the following question, select the odd word from the given alternatives.
Ans J 1. Chess

x 2. Football

x 3. Cricket

x 4. Hockey

Question ID : 5459276469

Q.11 In the following question, select the related words from the given alternatives.

Clock : Time :: Thermometer : ?
Ans J 1. Temperature

x 2. Energy

x 3. Radiation

x 4. Heat

Question ID : 5459276472

Q.12 If ‘A’ means '+, ‘B’ means ‘x’, ‘C’' means ‘+' and ‘D’ means ‘-, then12A4B8D2B27A9="?

Ans j 1.18
X 2.16
K 312
X 4.24

Question ID : 5459276484

Q.13 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I. All chairs are pens.
1. Some pens are cups.
11l. All cups are pencils.

Conclusions:
I. Some pencils are pens.

I1. All pencils are chairs.
11I. All chairs are cups.

Ans x 1. Both conclusion Il and 1l follow
J 2. Only conclusion | follow
x 3. Both conclusion I and Il follow

x 4. Only conclusion Il follow

Question ID : 5459276483
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Q.14 In the following question, select the related word pair from the given alternatives.

Erase : Rubber :: ?
Ans x 1. Clock : Time

X 2. Pen: Write
75 3.cut: Pencil

« 4. Eat : Spoon

Question ID : 5459276471

Q.15 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

ABC, EFG, IJK, ?, QRS
Ans X1 KLM

X 2. MNP
W 3.MNO
X 4. LMN

Question ID : 5459276466

Q.16 In a group of five girls, Komal is the shortest while Lisa is the tallest. Rohini is taller than
Komal but shorter than Veena. Priya is second shortest person girl in the group. Who is the
second tallest girl of the group?

Ans ( 1. Veena

/X 2. Lisa
7% 3. Rohini
/X 4. Priya

Question ID : 5459276479

Q.17 P, Q,R, S, T, U and V are seven boys. Height of U and V are equal. P is shorter than Q but
taller than R. S is shorter than P but taller than R. T is shorter than Q but taller than P. U is
taller than Q. How many boys are taller than P?

Ans X 15
X 2.3
34
542

Question ID : 5459276478

Q.18 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
|. Some pens are tables.
1. Some tables are chairs.

Conclusions:
I. All tables are pens.
Il. Some pens are chairs.

Ans { 1. Neither conclusion follow
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x 2. Only conclusion | follow
X 3. Both conclusion I and Il follow

x 4. Only conclusion Il follow

Question ID : 5459276482

Q.19 Arrange the given words in the sequence in which they occur in the dictionary.

1. Demanding
2. Democracy
3. Demystify
4. Demarcate
5. Decorate

Ans X' 1 52341

/X 2.52314
o 351423
/X 4.54123

Question ID : 5459276465

Q.20 In the following question, select the related letters from the given alternatives.
KPVA : PUAF :: BGLQ : ?
Ans X" 1.BGLQ
75 2. MRWC
o 3.6lav
/X 4.L6vQ

Question ID : 5459276473

Section : Mental Ability2

Q.1 In the following question, four number pairs are given. The number on left side of (-) is
related to the number of the right side of (=) with some Logic/Rule/Relation. Three are
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given
alternatives.

Ans X" 1 64 - 4097

75 2.38-1445

/X 3.26-677
W 4.52-2707

Question ID : 5459276485

Q.2 In the following question, select the missing number from the given series.

2,8,18,32,50,?

Ans x1_78
/X 2.84
75 3.68
o 472
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l

Question ID : 5459276486

Q.3 Identify the diagram that best represents the relationship among the given classes.

Ans

Body, Eye, Retina

x (0o

v2|(©

&< 3

x| GED

Question ID : 5459276494

Q.4 IFA*B=(A+B)(A-B) then(12*7)*(11*8)=?

Ans

/< 1.5876
W 25776
/< 3.4376
/X 4.3989

Question ID : 5459276493

Q.5 In the following question, select the wrong figure from the given series.

Ans

BN

A

=

ki

Ko

SN E

Question ID : 5459276500
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Q.6 In the given figure, Doctors who are musician and players but not dancers are indicated by
which letter.

Dancers
|

Doctors

Players

Ans "1
W 2.h
K 3
X 4

Musicians

Question ID : 5459276495

Q.7 Which answer figure will complete the pattern in the question figure?

s

X 4

y
7
S

Question ID : 5459276502

Q.8 In the following question, select the related number from the given alternatives.

134:512::247:?
Ans  of 1 2197

75 2.1593
/X 3.2395
X 4.1479
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Question ID : 5459276487

Q.9 In the following question, select the figure which can be placed at the sign of question mark
(?) from the given alternatives.

AsAss | |Abbd AdA A
—| |—H] | —HH t? H-HH
o L] 000 00000
Ans &k
v R
EEER
Y A
x 2 =
EmeR
AV
X [
EEEE
FY Y
===
*80e

Question ID : 5459276499

Q.10 In the following question, select the number which can be placed at the sign of question
mark (?) from the given alternatives.

10 | 4 6 | 25 15 | 40
8§ 120 16 | 246 12| 2

Ans X" 1860

X 2.420
W 3.780
/X 4.360

Question ID : 5459276490

Q.11 Which answer figure will complete the pattern in the question figure?

Ans
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Question ID : 5459276501

Q.12 In the following question, four number pairs are given. The number on left side of (-) is
related to the number of the right side of (=) with some Logic/Rule/Relation. Three are
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given
alternatives.

Ans X" 1.12-1728

75 2.36 - 46656

o 3.21- 9461

75 4.27 - 19683

Question ID : 5459276492

Q.13 If ‘P’ means '+, ‘Q’ means ‘—’, 'R’ means ‘X’ and ‘S’ means ‘=", then177Q3R48S 16 P 12Q
18=7?

Ans X' 1.8
5212
32
54

Question ID : 5459276489

Q.14 In the following question, select the missing number from the given series.

4,10, 33,136, ?
Ans X 1578

X 2.475
X 3.332
of 4685

Question ID : 5459276488

Q.15 From the given answer figures, select the one in which the question figure is
hidden/embedded.
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Ans

X 3.

K
=

X 4

a4

Question ID : 5459276504

Q.16 Sunil goes 12 km towards east and then he goes 10 km towards north. He again goes 12 km
towards east. What is the straight line distance between final point and initial point?

Ans X1 24km

75 2.28km
/X 3.20km
o 426 km

Question ID : 5459276496

Q.17 Shashwat goes 15 metres towards south from a point P and then after turning to left he
goes 8 metres. He again turns left and goes 30 metres. How far and in which direction is he
now from his starting point?

Ans X" 1. 15 metres, South-east
X 2. 15 metres, North-east
x 3. 17 metres, North-west

( 4. 17 metres, North-east

Question ID : 5459276497

Q.18 In the following question, select the related number from the given alternatives.

426 :576::378:?
Ans X" 12996

o 23024
/X 3.632
X 4.778

Question ID : 5459276491

Q.19 In the following question, select the figure which can be placed at the sign of question mark
(?) from the given alternatives.
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T = L,d @
x| ~]

o
o
=]
o
o
o
o
o
(=]

Ans

Question ID : 5459276498

Q.20 From the given answer figures, select the one in which the question figure is
hidden/embedded.

Ans

Question ID : 5459276503

Section : General Awareness1

Q.1 Unitis .

Ans x 1. method of measurement

J 2. the unknown quantity with respect to which something is measured
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75 3. amount of measurement

x 4. the unknown quantity which is measured

Question ID : 5459276514

Q.2 Which of the following pair of Musician — Instrument is NOT correct?

Ans f 1. Shiv Kumar Sharma - Bansuri
x 2. Bismillah Khan — Shehnai
x 3. Zakir Hussain — Tabla

x 4. Ravi Shankar — Sitar

Question ID : 5459276508

Q.3 FE____ g W Ioreni Aifa gan sifdeiy st 21
Ans X" 1.y 3R gt ifeat wHE

o 2. oiferter @ sfte

/X 3. g wifert @ srfde

75 4. e ok gt ea agd HH

Question ID : 5459276511

Q.4 is the rate of interest commercial banks have to pay to RBI if they borrow money from
it in case of shortage of reserves.

Ans X" 1 statutory Liquidity Ratio
x 2. Cash Reserve Ratio
f 3. Bank Rate

x 4. Money Rate

Question ID : 5459276509

Q.5 F=fafaa 7 9 forw sfia | vidRaifees Fifve gt 82
Ans X 1 genieft (sietsite)

25 2. s

X 3. fom

W 4 - g e

Question ID : 5459276517

Q.6 F=afafEa & @ o= ar srafde udq =gl 8?2
Ans X" 1 e vgrfeat

2. e

/X 3. et

#< 4. romge vgieat

Question ID : 5459276523

Q.7 fAg A v wRa S T HAg & FAMIER giel & 3R 39 71 & fAfde qur gia & 59 &




A1 | ST ST 81
Ans O 1 gEE
X 2. d=a

/X 3. st

(4.1131%11?{
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Question ID : 5459276522

Q.8 Endocrine glands are

I. Duct glands
Il. Ductless glands

Ans X" 1 Bothland Il

x 2.0nly |

x 3. Neither I nor Il

o 2. onlyi

Question ID : 5459276519

Q9 ReddudugET____ df¥ag
Ans X1 g

o 2 &=

X 3.mrE

7K 4. e e

Question ID : 5459276506

Q.10 Which of the following state shares border with Nepal?

Ans x 1. Gujarat

x 2. Tripura

( 3. Uttar Pradesh

x 4. Telangana

Question ID : 5459276524

Q.11 Choose the correct statement.

I. Rayon is also known as Atrtificial silk.

Il. Rayon and silk are natural fibres.

lll. Rayon and Nylon are man — made fibres.

IV. Nylon is a man — made fibre.
Ans X" 1 Only IV

o 2.1 1and v
25 3. 1and i
/< 4.1and |l

Question ID : 5459276513

Q.12 Orange juice contains

Ans

acid due to which it tastes sour.
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o 1. citric

/X 2. oxalic
75 3. formic
/X 4. acetic

Question ID : 5459276512

Q.13 Which of the following is formed by mixing iron with carbon, nickel and zinc?
Ans X' 1 Steel

x 2. German silver

J 3. Stainless steel

x 4. Bronze

Question ID : 5459276515

Q.14 An is a solution in which the suspended particles are liquid droplets and the
continuous phase is also a liquid. (The two phases are immiscible)

Ans J 1. Emulsion

x 2. Agglomerate
/X 3. Gel
x 4. Aerosol

Question ID : 5459276516

Q.15 Migrants who move into a new place are called
Ans X" 1. Sheltered

x 2. Displaced
( 3. Immigrants

x 4. Emigrants

Question ID : 5459276521

Q.16 Ambubachi mela is a festival of which state?
Ans  of 1 Assam

x 2. Mizoram
75 3. Sikkim
x 4. Gujarat

Question ID : 5459276507

Q.17 Bryophyllum, reproduces by .

Ans ( 1. vegetative propagation
x 2. fragmentation
x 3. budding

x 4. spore formation

[ Question ID : 5459276518
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\

Q.18 Jawara dance is related to
Ans X" 1 Karnataka

x 2. Maharashtra

state.

( 3. Madhya Pradesh
x 4. Andhra Pradesh

Question ID : 5459276505

Q.19 In Union Budget 2019, the government eased
Ans x 1. Entertainment tax

to encourage start-ups in the country.

x 2. Corporate tax

f 3. Angel Tax

x 4. Luxury tax

Question ID : 5459276510

Q.20 Which of the following is also called ‘Slash and Burn’ agriculture?

Ans x 1. Plantation Agriculture
x 2. Intensive Subsistence Agriculture
J 3. Shifting Cultivation

x 4. Primitive Subsistence Agriculture

Question ID : 5459276520

Section : General Awareness2

Q.1 National Doctor's day is observed every year on
Ans  of 1 1stuuly

#< 2.27th June

75 3.27th July
X 4.2nd July

Question ID : 5459276532

Q.2 “Lessons Life Taught Me Unknowingly” is an autobiography of which actor?
Ans f 1. Anupam Kher

x 2. Boney Kapoor
x 3. Rakesh Roshan
x 4. Rishi Kapoor

Question ID : 5459276534

Q.3 The First Battle of Tarain was fought between Mohammad Ghori and

Ans x 1. Rana Pratap Singh
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J 2. Prithviraj Chauhan

x 3. Maharaja Hari Singh

#< 4. Jai Singh

Question ID : 5459276531

Q.4 Who was appointed as president of World Bank in April, 2019?
Ans X" 1. Ivanka Trump

( 2. David Malpass
75 3. Jim Yong Kim

X 4. Anshula Kant

Question ID : 5459276533

Q.5 e wRuT A R orgee # ot 6 uRwe § wurl & snden @ I &7
Ans X 1 zgdt s

X 2. 78 ot

/X 3. 7t g

of 4. el orgeeh

Question ID : 5459276538

Q.6 How many medals did India win in the 2018 Commonwealth Games?

Ans X" 173
W 266
/X 3.60
/X 452

Question ID : 5459276542

Q.7 Emergency Provisions are contained in which Part of the Constitution of India?
Ans X' 1 PartX

X 2 Partl
75 3. Part XX
o 4 Partxvill

Question ID : 5459276539

Q.8 Which of the following material was used during Harappan Civilization?
I. Plastic

Il. Teracotta
11l. Rubber

Ans X1 land |l

75 2.01and
75 3.0nly i
o 4 oniyll
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l Question ID : 5459276528

Q.9 What does Article 42 of the Indian Constitution deals with?

Ans « 1. Provisions for just and humane conditions of work and maternity relief.
X 2. Protection of life and personal liberty.
x 3. Fundamental rights

X 4. Uniform civil code for the citizen.

Question ID : 5459276541

Q.10 Which of the following pair of player — game is not correct?

Ans x 1. Saina Nehwal — Badminton
x 2. Vikas Krishan — Boxing
“ 3. Hussamuddin Mohammed - Hockey

x 4. Sharath Kamal - Tennis

Question ID : 5459276543

Q.11 Russia honored in 2019 with 'Order of St Andrew the Apostle'.

Ans x 1. Piyush Goyal

« 2. Narendra Modi
75 3.Raj Nath Kovind

x 4. Venkaiah Naidu

Question ID : 5459276535

Q.12 The Hoysala dynasty was associated with which state?
Ans “ 1. Karnataka

x 2. Gujarat

x 3. Tamil Nadu
x 4. Madhya Pradesh

Question ID : 5459276530

Q.13 The novel "Milkman" is writtenby ______.
Ans X" 1. Arundhati Roy

x 2. Salman Rushdie
( 3. Anna Burns

#< 4. Kiran Desai

Question ID : 5459276537

Q.14 Who gave the slogan of ‘Do or Die'?
Ans « 1. Mahatma Gandhi

x 2. Bal Gangadhar Tilak

X 3. Bhagat Singh
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x 4. Subhash Chandra Bose

Question ID : 5459276527

Q.15 3 1916 # g & o1 i T fohemt < oft?
Ans X 1 gifestard gt

o 2 chaEe

7% 3. e wETe

5 4 S g

Question ID : 5459276529

Q.16 ‘Harmika’, a balcony-like structure that represented the abode of God was part of which
architecture?

Ans  of 1 Buddhist

x 2. Mauryan
x 3. Mughal
x 4. Jainism

Question ID : 5459276526

Q.17 Which actor was awarded the Dadasaheb Phalke Award 2018?
Ans x 1. Amitabh Bachchan

( 2. Vinod Khanna

X 3. Sanjay Dutt
x 4. Anupam Kher

Question ID : 5459276536

Q.18 2022 Commonwealth Games will be held in which country?
Ans X" 1 Australia

x 2. India

x 3. Indonesia

J 4. England

Question ID : 5459276544

Q.19 Through which amendment act municipalities were introduced in India?

Ans X" 1.53rd Amendment Act, 1986
of 2. 74th Amendment Act, 1992
75 3.70th Amendment Act, 1992

75 4.52nd Amendment Act,1985

Question ID : 5459276540

Q.20 WRA # TAFTAAHA (VaTH) & T Rk T 8?2

1. T
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Il. Tareg Sar
1. fverw

Ans X" 1 |Gl

< 2. 1@
o 3@
75 4l

Question ID : 5459276525

Section : Arithmetic Ability1

Q.1 Which of the following statement(s) is/are correct?

1. (3/11)>0.3
I1. (7/8) > 0.86

Ans X" 1. Bothlandl
x 2. Neither I nor Il
o 3.0niyll
x 4.0nly |

Question ID : 5459276552

Q.2
If}{=l+i+i+i andY=l+1 .
3 15 3% 65 2 2

Ans X" 1.36/45

7 2.31/45
/X 3.32/45
of 4 4/45

Question ID : 5459276554

Q.3 Number Jis firstly increased by 40% and then it is decreased by 30%. Final value of J is

what percentage of initial value of J?
Ans X" 1.104 percent

x 2.102 percent
x 3. 82 percent
( 4. 98 percent

Question ID : 5459276559

Q4 2 2
(4.'?+ 2.1] — (4 g — 2.]}

Ans X" 13718

of 2.39.48
/< 3.42.18




www.HaryanaJobs.in
/X 4.36.48

Question ID : 5459276546

Q.5 If B1is 75% of B2, then B2 is what percentage of B1?
Ans X" 1.130%

X 2.125%
o 3.133.33%

X 4.116.67%

Question ID : 5459276558

Q.6 How many numbers are there from 32 to 333 which are divisible by both 3 and 4 but not by
5?

Ans X" 118
X 2.19
/< 3.21
o 4.2

Question ID : 5459276548

Q.7 P 3
(5.17-2.19)" —(5.17+2.19)
113223
Ans X1 -1/4
22
X 3.4
X 4.1/4
Question ID : 5459276553
Q.8
81 +3/0.027 + #0.0081
9 + 30720 + 406561
Ans ( 1.2
K 2.1
K 3.1/2
X 4.4
Question ID : 5459276547
Q.9

IfA=(3.1) —(2.2) and B = (22) —(3.1)

Ans  of 1 054
X 2.327
X 3632
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X 40

Question ID : 5459276551

Q.10 M1 is 30% more than M2. M2 is 50% more than M3. M3 is 40% less than M4. M1 is what
percentage of M4?

Ans X" 1.87 percent

X 2. 94 percent
x 3. 130 percent

J 4.117 percent

Question ID : 5459276560

(0.73)" +(0.31)°
(0.73)" —0.73x0.31+(0.31)

Ans o 1 104
X 2214
/X 3.1.01
X 4108

Question ID : 5459276545

Q.12 Anil sells a pen at a loss of 35%. If he had sold the pen for Rs 240 more, then he would have
a loss of 20%. To gain profit of 40%, what should be the selling price of the pen?

Ans X" 1 Rs 3240

o 2. Rs 2240

/5 3.Rs 2460
#< 4.Rs 2340

Question ID : 5459276563

Q.13 What is the sum of the average of first 19 natural numbers and the average of first 6
positive odd numbers?

Ans X" 117
75 2.19
X 318
o 416

Question ID : 5459276557

Q.14
If)f!!L=i+i+i ani:lB=i+i+l
30 20 42 56 72 90

Ans  of 1 21/140

/X 2.21/160

75 3.23/150
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/X 4.23/140

Question ID : 5459276549

Q.15 The cost price of a bat is 5/6 of the marked price. What will be the gain/loss percentage
after allowing a discount of 30% on the marked price?

Ans X" 1.24% profit
x 2.24% loss

75 3.16% profit

o 4.16%loss

Question ID : 5459276556

Q.16 The ratio of marked price to the selling price of a article is 5 : 2. What is the discount
percentage?

Ans X" 140 percent
x 2. 30 percent
J 3. 60 percent
x 4. 50 percent

Question ID : 5459276555

Q.17 The selling price of an article is Rs 960 and profit earned on it is 50%. If the new profit
percentage is 30%, then what will be the selling price of the article?

Ans  of 1 Rs832

/X 2.Rs 844
75 3.Rs 736
/X 4.Rs748

Question ID : 5459276562

Q.18 The ratio of age of two person A and B is 3 : 4. If the sum of their ages is 56, then what is
the age of B?

Ans X" 124 years
o 232 years
/< 3.22years
x 4.36 years

Question ID : 5459276564

Q.19 Ram sold a table at Rs 960. On selling this table, he earned a profit of Rs 160. What is the
profit percentage?

Ans J 1. 20 percent
x 2. 25 percent
x 3. 33.33 percent
x 4.16.66 percent

Question ID : 5459276561
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Q20 IfFA= 51_;.72_21 aﬂdB=lll—3l—53 . then what is the value of A% +B*?
2 4 T4 4 "2 T4
Ans X" 1145
/X 2.150
W 3125
X 4.130

Question ID : 5459276550

Section : Arithmetic Ability2

Q.1 Rs 6000 becomes Rs 8340 in K years at simple interest. If rate of interest is 13% per annum,
then what is the value of K?

Ans 1.2
X 2.4
W33
X 45

Question ID : 5459276567

Q.2 The pie chart given below shows the number of movies released on different weekends of a
month. The number is shown as a percentage of total movies released in the month.

If the total number of movies released in the month are 200, then the number of movies
released in W4 is how much more than the movies released in W1?

Ans  of 116
K 212
X 38
K 4.20

Question ID : 5459276579

Q.3 A car has to travel 250 km in 30 hours. It covers 1/5 part of the journey in 1/6 time. What
should be its speed for the remaining journey to reach on time?

Ans X" 110 km/hr

o 2.8 km/hr

/X 3.12km/hr
75 4.15km/hr

Question ID : 5459276572
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Q.4 Two cubes each of edge 24 cm are combined to form a single cuboid. What is the volume of
the new cuboid?

< 117688 cm?

v 2 27648 cm?
X 325678 cm?
X 4. 13824 cm?

Question ID : 5459276577

Q.5 The line graph given below shows the number of rotis made by a rotimaker in a hotel on

different days.
1400 19
1148
1200 - mM
5 1000 1 1096
= 800 4
E 600
5 400 -
200 -
ﬂ T T T T 1
DI D2 D3 D4 DS
Days

The rotis made on D5 is what percent more than the rotis made on D1?
Ans  of 102656

75 2.0.2456
/X 3.0.2256
/< 4.0.1856

Question ID : 5459276584

Q.6 A sum of money becomes Rs 39930 in 3 years and Rs 36300 in 2 years when kept at
compound interest (compounding annually). What is the sum?

Ans X" 1.Rs 34000
75 2.Rs 28000
/5 3.Rs 32000
W 4.Rs 30000

Question ID : 5459276569

Q.7 A can complete a work alone in 8 days. B can complete the same work alone in 12 days. C
alone complete the same work in 16 days. They complete the work in 3 days with the help
of D. If they get Rs 12000 for the work, then how much money does the D get?

Ans X" 1 Rs 2500
/5 2.Rs 2750

o 3.Rs 2250

75 4.Rs 3000

[ Question ID : 5459276575
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Q.8 The table given below shows the number of questions in different sets.

Set Number of questions
S1 54
s2 56
83 60
S4 62
S5 66
S6 72

The number of questions in set 1 is how much percent less than the number of questions in
set 4?

Ans X" 1.14.9 percent
X 2.10.9 percent

/X 3.0.169

J 4.12.9 percent

Question ID : 5459276581

Q.9 100 men can make 60 chairs in 4 days working 2 hours a day. How many men are required
to make 120 chairs in 10 days working 4 hours a day?

Ans X" 134 men
J 2.40 men

X 3. 30 men
X 4.28 men

Question ID : 5459276574

Q.10 The length, breadth and height of a cuboid is 12 cm, 9 cm and 8 cm respectively. What is the
length of the longest diagonal of the cuboid?

Ans X" 1.16cm

X 2.13cm
J3.17cm
X 4.145cm

Question ID : 5459276576

Q.11 Rs 20000 are kept at simple interest in 2 parts. One part is kept at a rate of 8% per annum
and the other part is kept at a rate of 15% per annum. If the total interest for 3 years is Rs
6480, then what is the value of the 2 parts?

Ans  off 1.Rs 12000, Rs 8000
75 2.Rs 16000, Rs 5000
7% 3.Rs 10000, Rs 10000

75 4.Rs 14000, Rs 6000

Question ID : 5459276568

Q.12 The salaries of P, Q and R are in the ratio 3 : 5 : 8. If their salaries are increased by 20%, 20%
and 5% respectively, then what will be the ratio of their increased salaries?

Ans X" 1.3:6:8
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K 21:4:7
3357
K 41:2:4

Question ID : 5459276565

Q.13 The bar graph given below shows the number of female employees in different companies.

120 1 405 106 N4 1z 108
100 92
BD +
m o4
40 4
20

[i]

81

NLm Il:r -ufr\.-m nh: wim plllyul::

Cl C2 C3 4 C5 C6 .7
Company

The number of female employees in C7 is how much percent more than the female
employees in C5?

Ans X" 1.0.2639

W 201739
/< 3.0.2039
75 4.0.2339

Question ID : 5459276583

Q.14 Vikram's efficiency is 300% of Kushal’s efficiency. If Vikram can complete a piece of work in
100 hours, then how much time will they take working together to complete the same work?

Ans  of 1 75hours
#< 2.45hours
x 3. 50 hours
75 4.60 hours

Question ID : 5459276573

Q.15 The pie chart given below shows the expenses of family on different things. The expenses
are shown as a percentage of total expenses of the family.

N2

T3,
28%

What is the difference in central angle made by sector for T1 and T3?
Ans X" 1.776°

o 2576°
/X 3.87.6°
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X 4.67.6°

Question ID : 5459276580

Q.16 The speed of a boat in still water is 18 km/hr. If the speed of stream is 4 km/hr, then how
much time will it take to cover a distance of 44 km in downstream?

Ans X" 1. 4hours

x 2.5 hours
x 3. 3 hours
f 4.2 hours

Question ID : 5459276570

Q.17 The bar graph given below shows the marks obtained by a student in different subjects.

9% 97
‘Ww 54“92 3531
4 70

S1 S2 S3 S4 S5 S6 57 S8 $9S10
Subjects

Marks
o B 582888

What are the average marks obtained by student per subject?
Ans X" 1827

o 2867
/X 3.877
X 4.847

Question ID : 5459276582

Q.18 A square is room is surrounded by a passage of width 4 metres as shown in the figure. If the area of the
passage is 128 m?, then what is the area of the room?

Passage

Room

Ans X1 64m?
A2 36 m?
53 24m?

v 4 16 m?

Question ID : 5459276578

Q.19 A bag contains Rs 420 in the form of 5 rupee, 2 rupee and 1 rupee coins. The number of
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coins of 5 rupee, 2 rupee and 1 rupee are in the ratio of 2 : 3 : 5. What is the total number of
coins in the bag?

Ans X" 1240

< 2.260
/X 3.250
W 4200

Question ID : 5459276566

Q.20 A bus is travelling at the speed of 81 km/hr. How much time will the bus take to cover a
distance of 9/2 km?

Ans X" 1,240 seconds
x 2.270 seconds
x 3. 180 seconds

J 4.200 seconds

Question ID : 5459276571

Section : General English1

Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

1 told the boys (1) / that they should (2) / do ours duty (3) / No error (4)

Ans (13
X 2.4
X 3.2
X4

Question ID : 5459276587

Q.2 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

| hate things.

Ans J 1. such
75 2.each
X 3.l
75 4. every

Question ID : 5459276599

Q.3 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

She did not (1) / tell me what (2) / her plans are (3) /. No error (4)

Ans J1,3
X 2.4
K31
X 42
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Question ID : 5459276588

Q.4 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

He did not eat rice.
Ans X 1. several

X 2. must
J 3. any
X 4.no

Question ID : 5459276602

Q.5 The question below consists of a set of labeled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.

P: said that more things

Q: therefore it is rightly

R: the world of dreams

S: are wrought by prayer than

Ans " 1 PQRS
o 2. qPsr
75 3.SRQP
/5 4.QRSP

Question ID : 5459276604

Q.6 You are abstained (to speak) ill of others.
Ans X" 1 of speak

J 2. from speaking

x 3. to speaking
x 4. No Improvement

Question ID : 5459276593

Q.7 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

He comes here

Ans X1 few
X 2.l
75 3.much
o 4 every

day.

Question ID : 5459276596

Q.8 Improve the bracketed part of the sentence.

He (works hard) succeeds.

Ans X" 1. No Improvement

J 2. who works hard
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x 3. work hard
x 4. who will work hard

Question ID : 5459276594

Q.9 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

The master taught (1) the boys that (2) / honesty was the best policy (3) /. No error (4)

Ans X" 1.4
K 2.2
25 3.1
v

Question ID : 5459276589

Q.10 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

The child fell
Ans & 1. under

X 2. over
X 3.up
J 4. down

from a great height.

Question ID : 5459276597

Q.11 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

This boy is stronger Harsh.

Ans  of 1 than
x 2. then
/X 3. that
75 4.this

Question ID : 5459276595

Q.12 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

The father showed

Ans X 1. any
x 2. whole
X< 3. few
o 4 much

patience.

Question ID : 5459276601

Q.13 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The teacher (1) / said that he (2) / was busy then (3) /. No error (4)
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Ans X 11
X 2.3
34
X 42

Question ID : 5459276585

Q.14 The question below consists of a set of labeled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.

P: the journey towards
Q: landing on the moon
R: the moon was more
S: thrilling than the

Ans " 1 SRQP
o 2. PrRsQ
/5 3.PQRS
/5 4.SQRP

Question ID : 5459276603

Q.15 Improve the bracketed part of the sentence.

The stranger asked the little girl (what her name was).

Ans J 1. No Improvement
x 2. what her name is
X 3. what is her name

x 4. what was her name

Question ID : 5459276592

Q.16 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Rama told the (1) / girl that he know (2) / her and her aunt (3) /. No error (4)

Ans X 13
W22
25 3.1
X 4.4

Question ID : 5459276586

Q.17 Improve the bracketed part of the sentence.

(Their) shoes are mine.
Ans x 1. Them

J 2. Those

X 3. No Improvement

75 4. That

Question ID : 5459276591
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Q.18 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

Every man has

Ans X" 1 her
75 2. him
o 3 his
x 4. himself

duties.

Question ID : 5459276598

Q.19 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

You no sense.

Ans X1 are
X 2. were
/< 3.has
o 4 have

Question ID : 5459276600

Q.20 Improve the bracketed part of the sentence.

Bonded labour (has been) now almost a thing of the past.

Ans X 1. was
o 2is
X 3. No Improvement

x 4. had been

Question ID : 5459276590

Section : General English2

Q.1 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

In the prime of life

Ans ( 1. In the best period of life

x 2. At open enmity

X 3. In writing

x 4. Blood relations

Question ID : 5459276616

Q.2 The question below consists of a set of labeled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.

P: human life is a tale of errors and follies.
Q: we all commit errors and mistakes out of ignorance or inexperience
R: nobody is infallible.

S: in the process of acquiring experience, man often stumbles and falls down.
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Ans  of 1 PROS
/5 2.PSQR
75 3.RSPQ
/X 4.PQRS

Question ID : 5459276605

Q.3 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

In a fix
Ans  of 1.in adifficult position

X 2. Definitely
x 3. With all one’s energy

X 4.In an indirect way

Question ID : 5459276615

Q.4 Choose the word that is opposite in meaning to the given word.

Persist
Ans J 1. Cease

x 2. Demur
x 3. Falter

x 4. Dismantle

Question ID : 5459276607

Q.5 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

In no time
Ans X" 1 Tasteless

J 2. Very soon
x 3. Dominating
X 4. In search of

Question ID : 5459276614

Q.6 Choose the word that can substitute the given sentence.

Release someone from duty or obligation
Ans X" 1. Promotion

x 2. Appointment
J 3. Exonerate

x 4. Joining

Question ID : 5459276617

Q.7 Choose the word that can substitute the given sentence.
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Certain to happen
Ans  of 1 Inevitable

x 2. Distant
75 3.Infallible
/X 4. Indelible

Question ID : 5459276619

Q.8 Choose the word that can substitute the given sentence.

The arrangement of events in order of their occurrence
Ans x 1. Randomly

x 2. Anecdote
J 3. Chronology
x 4. Blasphemy

Question ID : 5459276618

Q.9 Choose the word that means the same as the given word.

Abnormal
Ans X" 1 Typical

X 2. Normal
J 3. Strange

x 4. Conforming

Question ID : 5459276606

Q.10 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X" 1. Exhilerate
X 2. Axhilerate
x 3. Exhelerate
J 4. Exhilarate

Question ID : 5459276613

Q.11 Choose the word that means the same as the given word.
Appetizing
Ans J 1. Pleasing
x 2. Tedious
x 3. Melting

x 4. Repulsive

Question ID : 5459276609

Q.12 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans J 1. Conscience
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X 2. Concince
x 3. Concinse

X 4. Caunscience

Question ID : 5459276611

Q.13 Choose the word that means the same as the given word.

Feud
Ans X" 1 Harmony

x 2. Calmness

of 3. strife
x 4. Peace

Question ID : 5459276608

Q.14 Choose the word that is opposite in meaning to the given word.

Deceit
Ans X' 1 Hatred

x 2. Treachery

x 3. Fraud

« 4. Honesty

Question ID : 5459276610

Q.15 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans x 1. Definitaly
X 2. Definately
x 3. Definitly
« 4. Definitely

Question ID : 5459276612

Comprehension:

Read the following information carefully and answer the given questions.

There are two main approaches to the understanding of the new ethnic phenomenon. The pre-
mordialist approach to ethnicity and ethnic identities considers common descent activated
more easily than rational principles and organization founded upon them. The other approach
is variously known as situational, subjectivist, or instrumental. Its main emphasis is on group
members perceptions of being different from others and on the implications of this for that
group's present status or predicament and for its prospects for the future.

These contending approaches are an aid to an explication of issues and to the undertaking of
contemporary reality but they do not offer any final answers. They are often no more then
exercises in the reconstruction of the past; the definition and redefinition of the situations to
explain the present and stratagems and strategies for achieving the desired future. Ethnicity
transcends the known boundaries of state, religion, sect, and class. It seeks to fragment
established nationalities and communities and create a new one using ethnic indicators. It
involves symbols -old as well as newly created- and their manipulation by competing elites.
The symbolic and cultural aspects of ethnicity are important in themselves; and they often get
politicized because, in the final analysis, most ethnic conflicts are demands for a larger share
of economic resources and products, and for a greater part in decision-making processes.
Given identities can be questioned by individuals and groups, and their actions can result in
the formation of new identities and symbol systems associated with the articulation of new
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interests. Ethnicity may thus lead to the redefinition of Social and cultural boundaries. Ethnic
aspirations and urges have a quick silver quality, they need to be consistent and firm. This is
explained by the quality of leadership of several ethnic movements. A section of the
established elite may be behind them, but the elite can be pushed aside and the leadership
taken over by arms wielding elements of diverse origins.

SubQuestion No : 16
Q.16 Why ethnicity needs a quality leadership?

Ans x 1. No option is correct
75 2.Bothaandb
x 3. Leadership does not have any role in ethnic movement

( 4. A quality leadership can check the arms rebellion within

Question ID : 5459276625

Comprehension:
Read the following information carefully and answer the given questions.

There are two main approaches to the understanding of the new ethnic phenomenon. The pre-
mordialist approach to ethnicity and ethnic identities considers common descent activated
more easily than rational principles and organization founded upon them. The other approach
is variously known as situational, subjectivist, or instrumental. Its main emphasis is on group
members perceptions of being different from others and on the implications of this for that
group's present status or predicament and for its prospects for the future.

These contending approaches are an aid to an explication of issues and to the undertaking of
contemporary reality but they do not offer any final answers. They are often no more then
exercises in the reconstruction of the past; the definition and redefinition of the situations to
explain the present and stratagems and strategies for achieving the desired future. Ethnicity
transcends the known boundaries of state, religion, sect, and class. It seeks to fragment
established nationalities and communities and create a new one using ethnic indicators. It
involves symbols -old as well as newly created- and their manipulation by competing elites.
The symbolic and cultural aspects of ethnicity are important in themselves; and they often get
politicized because, in the final analysis, most ethnic conflicts are demands for a larger share
of economic resources and products, and for a greater part in decision-making processes.
Given identities can be questioned by individuals and groups, and their actions can result in
the formation of new identities and symbol systems associated with the articulation of new
interests. Ethnicity may thus lead to the redefinition of Social and cultural boundaries. Ethnic
aspirations and urges have a quick silver quality, they need to be consistent and firm. This is
explained by the quality of leadership of several ethnic movements. A section of the
established elite may be behind them, but the elite can be pushed aside and the leadership
taken over by arms wielding elements of diverse origins.

SubQuestion No : 17

Q.17 The author shows how ethnicity transcends known boundaries and fragments nationalities
by:

Ans K 1. No option is correct

f 2. The formation of new identities and symbols which help in the articulation of new
interests

x 3. By clinging to old ethnic indicators only

K 4. Taking a consistent and firm stand on ethnic issues

Question ID : 5459276624

Comprehension:
Read the following information carefully and answer the given questions.

There are two main approaches to the understanding of the new ethnic phenomenon. The pre-
mordialist approach to ethnicity and ethnic identities considers common descent activated
more easily than rational principles and organization founded upon them. The other approach
is variously known as situational, subjectivist, or instrumental. Its main emphasis is on group
members perceptions of being different from others and on the implications of this for that
group's present status or predicament and for its prospects for the future.

These contending approaches are an aid to an explication of issues and to the undertaking of
contemporary reality but they do not offer any final answers. They are often no more then
exercises in the reconstruction of the past; the definition and redefinition of the situations to
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explain the present and stratagems and strategies for achieving the desired future. Ethnicity
transcends the known boundaries of state, religion, sect, and class. It seeks to fragment
established nationalities and communities and create a new one using ethnic indicators. It
involves symbols -old as well as newly created- and their manipulation by competing elites.
The symbolic and cultural aspects of ethnicity are important in themselves; and they often get
politicized because, in the final analysis, most ethnic conflicts are demands for a larger share
of economic resources and products, and for a greater part in decision-making processes.
Given identities can be questioned by individuals and groups, and their actions can result in
the formation of new identities and symbol systems associated with the articulation of new
interests. Ethnicity may thus lead to the redefinition of Social and cultural boundaries. Ethnic
aspirations and urges have a quick silver quality, they need to be consistent and firm. This is
explained by the quality of leadership of several ethnic movements. A section of the
established elite may be behind them, but the elite can be pushed aside and the leadership
taken over by arms wielding elements of diverse origins.

SubQuestion No : 18
Q.18 Which of the following approaches provide an understanding of the new ethnic phenomena?

Ans X" 1. No option is correct
x 2. The primordial approach to ethnicity and ethnic-identities
f 3.Bothaandb

x 4. The situational, subjectivist or instrumental that is based on member’s perception of
being different from others

Question ID : 5459276623

Comprehension:

Read the following information carefully and answer the given questions.

There are two main approaches to the understanding of the new ethnic phenomenon. The pre-
mordialist approach to ethnicity and ethnic identities considers common descent activated
more easily than rational principles and organization founded upon them. The other approach
is variously known as situational, subjectivist, or instrumental. Its main emphasis is on group
members perceptions of being different from others and on the implications of this for that
group's present status or predicament and for its prospects for the future.

These contending approaches are an aid to an explication of issues and to the undertaking of
contemporary reality but they do not offer any final answers. They are often no more then
exercises in the reconstruction of the past; the definition and redefinition of the situations to
explain the present and stratagems and strategies for achieving the desired future. Ethnicity
transcends the known boundaries of state, religion, sect, and class. It seeks to fragment
established nationalities and communities and create a new one using ethnic indicators. It
involves symbols -old as well as newly created- and their manipulation by competing elites.
The symbolic and cultural aspects of ethnicity are important in themselves; and they often get
politicized because, in the final analysis, most ethnic conflicts are demands for a larger share
of economic resources and products, and for a greater part in decision-making processes.
Given identities can be questioned by individuals and groups, and their actions can result in
the formation of new identities and symbol systems associated with the articulation of new
interests. Ethnicity may thus lead to the redefinition of Social and cultural boundaries. Ethnic
aspirations and urges have a quick silver quality, they need to be consistent and firm. This is
explained by the quality of leadership of several ethnic movements. A section of the
established elite may be behind them, but the elite can be pushed aside and the leadership
taken over by arms wielding elements of diverse origins.

SubQuestion No : 19
Q.19 How do ethnic ideologies help in the propagation of inequalities?

Ans X" 1.Bothaandb
\f 2. No option is correct
x 3. Agreeing to make compromises over the contested territory

x 4. Through the condemnation of cleansing programmes

Question ID : 5459276621

Comprehension:
Read the following information carefully and answer the given questions.

There are two main approaches to the understanding of the new ethnic phenomenon. The pre-
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mordialist approach to ethnicity and ethnic identities considers common descent activated
more easily than rational principles and organization founded upon them. The other approach
is variously known as situational, subjectivist, or instrumental. Its main emphasis is on group
members perceptions of being different from others and on the implications of this for that
group's present status or predicament and for its prospects for the future.

These contending approaches are an aid to an explication of issues and to the undertaking of
contemporary reality but they do not offer any final answers. They are often no more then
exercises in the reconstruction of the past; the definition and redefinition of the situations to
explain the present and stratagems and strategies for achieving the desired future. Ethnicity
transcends the known boundaries of state, religion, sect, and class. It seeks to fragment
established nationalities and communities and create a new one using ethnic indicators. It
involves symbols -old as well as newly created- and their manipulation by competing elites.
The symbolic and cultural aspects of ethnicity are important in themselves; and they often get
politicized because, in the final analysis, most ethnic conflicts are demands for a larger share
of economic resources and products, and for a greater part in decision-making processes.
Given identities can be questioned by individuals and groups, and their actions can result in
the formation of new identities and symbol systems associated with the articulation of new
interests. Ethnicity may thus lead to the redefinition of Social and cultural boundaries. Ethnic
aspirations and urges have a quick silver quality, they need to be consistent and firm. This is
explained by the quality of leadership of several ethnic movements. A section of the
established elite may be behind them, but the elite can be pushed aside and the leadership
taken over by arms wielding elements of diverse origins.

SubQuestion No : 20
Q.20 The problems posed by the phenomenon of ethnicity can be solved by:

Ans X 1. Identifying with assimilation and homogenisation of diverse groups
( 2. Isolating ethnic group within a wide cultural spectrum

X 3. Propagating nationalism which seeks to absorb sub-nationalism and micro-
nationalism

x 4. Advocating cultural pluralism which stabilizes the prevailing cultural situation

Question ID : 5459276622

Section : General Hindi1

Q.1 f=afafEa 3 @ wa f swaaras = gd49m 9 7+t @2
s of 1 g

X 2

75 3. @

K 4

Question ID : 5459276629

Q.2 f&Q 7Q a1 1 et AT R
gfe ag uean, at uden & S<hof g sram
Ans X 1. o qd
v 2 3T
75 3. wftry g
X 4 b

Question ID : 5459276645

Q.3 fAm=fafle d @ s aur &R @1 wiF a1 g gl T8 82
Ans  off 1.8 - gEry

K 2@ - wd
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Question ID : 5459276643

Q.4
Ans

fFrafafaa d | gice aeg AT a1 d?
75 1. srear
X 2. e
V 3.3
X 4

Question ID : 5459276641

Q.5
Ans

Prforfa & @ @it a1 2 adf 6 g & o 27
o 1. s
75 2 sma
/X 3 e
p R

Question ID : 5459276640

Ans

fw ¢ arermiar & forg 3R 2ree & T fifdwl
forwem Pofa T gt g &t

75 1. Fofagde

of 2. arffia

/X 3. ffofg

/X 4. sfofg

Question ID : 5459276638

Q.7

Ans

foq 1 21z 1 gafaarh 7ra fifsgl
Gic

X 1.3

v 2.

X 3T

X 4y

Question ID : 5459276639

Q.8
Ans

Frafafea d & o= ar o g Seag a1 8?
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l Question ID : 5459276631

Q.9 fRy 2re= & yega wra RSl
ELs
Ans “1.g
K 2.3
X33
P

Question ID : 5459276627

Q.10 Fr=fatea | @ fora are | wdarea s uaiT gsm &?
Ans X" 1 o1 g S

25 2. <A g e

W 3. e o 2

75 4. e g e o g B

Question ID : 5459276644

Q.11 f=afaf@a # @ w19 91 2res g a7 - d.gd o1 -1gl 82
Ans X" 1 dhepur — dT

o 2 TR - 7@

75 3. @ - @@

75 4. ol - @

Question ID : 5459276628

Q.12 fr=afaf@a 7 @ g[g SITerT &1 A T ThgeTan g?
Ans ?‘ﬁ-w

75 2. e

X 3 @

o 4 ugem

Question ID : 5459276633

Q.13 Ry 71y 21z g @t oref @ FAQI
& - A
Ans X 1 e - fART
75 2.@m - fovan
/X 3. - am
o 4 T - Rafden

Question ID : 5459276632

Q.14 Ry g are § s Tu= A gfd fifSg)
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fRr_ femmd
Ans v'ma'c%r

X 2. ot
75 3. R

K 4T

Question ID : 5459276637

Q.15 fFr=fafea 7 & fora are & a== 1 98 vl gon &2
Ans X1 39 g Ie

(2@%3’&133@

75 3 g IE

/X 4.8 @ 3g

Question ID : 5459276642

Q.16 2y 7Y 2reg & G@fY & &9 Y uga= fifSal
AEmEafy
Ans xWIUTF@
/X 2. ot gy
#< 3. s wify
v RE T

Question ID : 5459276626

Q.17 1y 71y ez, foraah IeTEeur & wira Rifgl
3iER, =T, 3, R
Ans X" 1. ahrerarereh fea fasiwor
/X 2. uRmToTaT fehar fastsor
o 3. wraras B frshor
/X 4. Afdaraes fran Rshyor

Question ID : 5459276630

Q.18 f3gQ 7Q 2rex 1 yafgaT=ht 79 RS
GEIG ]
Ans x1g3an%a
o 2 ag
75 3. g
p R

Question ID : 5459276634

Q.19 F=fafE@a 7 9 g5 ad+ o1 9g= fifsgl
Ans X 1. wedaf
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75 2. uRen

W 3. dar
X 498

Question ID : 5459276635

Q.20 f&Q 7Y 2r1ez o1 faeiie 2reg T a S

&
Ans ?‘ﬁﬂ%
X 2.8
p R
o 2o

Question ID : 5459276636

Section : General Hindi2

Q.1 fRu 7y foarm Rg & &9 Y uga= AfSal
O]
Ans X1 qeE
o 2. v
/X 3. gof fawm
X 4. sgfrm

Question ID : 5459276657

Q.2 Y 7Y arer & faw Tl it o1 =a= fifSal
g Sarar IAfSd g
Ans  off 1. aiftvar daret g
/X 2. 3 R =
7K 3. sifat & o SerehR g1
75 4. 9 o UG T

Question ID : 5459276659

Q.3 af faneht ug a1 araier & ref &1 79 T 1 At fohe farmw Rig & wiT v w1 g2
Ans X" 1. aitereh

75 2. fde

/X 3. @R

o 4 Fvw

Question ID : 5459276656

Q.4 Ty 7y arer & fag Tl it o1 aa= fifSal
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St et a=mi
Ans X" 1. €& STaTe ol geeR & &I
o 2. sirafer d R 3
/X 3. ufat are
75 4. Qe st @ 3

Question ID : 5459276660

Q.5 g arem # gy wra HifSg)
A g TEE Bl
Ans X1 g
25 2. vum
o 3. mem
75 4 e

Question ID : 5459276649

Q.6 Ry 7Y T & fow & Aiwifth 1 @g= Rl
RIAT &1 g
Ans X7 1. 3id & gy R
/X 2. 3R R & 1S @ A8 Fama

o 3. o & o el & @
25 4. 3 R S e S € wR Sy

Question ID : 5459276655

Q.7 Aol v d, Ry 7y ar faseal & 9, 39 fasea o1 ag7 &= w1t Ry 7g gerer & oref ot
i 9 Q =<h T 8l

R TRk uRsm @
Ans  off 1. R 3 qE FAI
75 2. ATeR &1 S BT
/X 3. qER & S
75 4. 7oty & et

Question ID : 5459276654

Q.8 Ry 7y araal & 9 g arera &1 g RfSigl

Ans X 1. gug Gaen al Mo g e o e iR
W 2. 39 SoaR we & e w o de iRy
/X 3. gug Ioa= Gaan &l e e o o e =i
7 4. g8 Joo et & - & et g o o e =R

Question ID : 5459276648

Q.9 fRY 7Y 2T A1 AATHE ¥ 74 RIS
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e
Ans X1 o
o 2.1
5 3.0
75 4. 1iitho

Question ID : 5459276658

Q.10 f=faf@d usr &, Ry e ar Rl 7 |, 39 Rereu &1 wa9 o it Ry g ggrer & oref @t
s 9 § =<h AT &l

HeAd dlSTI
Ans X' 1 aiftren fRre
/X 2. 9gd @ o
75 3. de
o 4. 35 st vl

Question ID : 5459276653

Q.11 F=fafEa usr #, Ry ¢ 9R el 7 |, 39 Rereu o1 oa+1 o st Ry g ggrer & ordf @t
IS ®U Y T=<h et 8l

T T USRI gIFTI
Ans X" 1. U el R Tl
75 2. veh) i @
7 3. 7ris afem

J4&H?mﬂaanz@m|

Question ID : 5459276652

Q.12 Ry 7 arerr | uer & w9 Y ugaH fifSg)
T deq d @t
Ans  of | fieroe
75 2. grac va
/X 3. qofer
< 4. (R e

Question ID : 5459276646

Q.13 F=faf@a usr #, Ry ¢ aR Rl 7 |, 39 Rereu &1 oa+ o St Ry g ggrer & o1 @t
IS ©9 A <k el gl

i - e e R ==
Ans X" 1. Sgdl TeRT ST
J 2. AT e AT SR
75 3. - e @ AT
X 4. &R e e =

[ Question ID : 5459276651
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\

Q.14 Ry 7g g # g & = 6 ugar ffSgl
ag &t oft o GeRaT 81
Ans X 1 e
o 2. s
X 3. RiFas
75 4. s

Question ID : 5459276647

Q.15 U 7Y arer & Tu Y ug== fKifsal
wTeH afh Iafa e &
Ans x 1. Wgh
75 2.fay
o 3 5=

75 4. fiere

Question ID : 5459276650

Comprehension:

Qe Terer & T &1 TeieT & YR OR uig W ey MY 1 TN Sl eaydeh Ug 9T Uedeh U B AR
fAreneat & & T faheT g1

3 & sierchR it dRene gF U faer ¥ 357 glens IR SR TeR1eT thetl ST &1 G & oot gadt ot gRareft
Y AT U&T el & 1 IodT aht RIeTTens RY 3R Govey Ohefl et &1 Sfe/ehR H g Hiet STTehILT el 31 & R
&t 81 g 519 g e # faifasT & SR Sad1 & af AT & o1t 7 A St H G SHTemier H Iadt et o
B &1 TRT STl ofTet, e, Tohe &1 § 8T ST &1 et a1repter R I i dor-at & St 81 9rt uepfa
Y &Y H G951 911 &1 veht Igae o &1 et et ur Hew et & 1 9RY R S @ SueH it
g S &1 Tt oo s & e g ora &) fy ikt & et #Er fia & ger 4t &1 @ 32T g
T et I7ch el T S RIAT & | UTd: el =T STTeiiches TaT &1 G oAl Shiwet 21id ¥ gl § 78
Sl ST &R &l &

SubQuestion No : 16
Q.16 I 3 gz Wl ol T TS feTar &2

Ans 5K 1 if o el
25 2. 37t o e
/X 3. T ade
f 4w E Ay

Question ID : 5459276665

Comprehension:

Tep TeIier foam war &1 wwerier & SR uR utg uet fay MY €1 TNl i eargdes U a1 Uk U H AR
et 7 © 9! faened g1

3 & SfeehR hl ERenR GF U feer & I glenk ORI 3R Tehrer thefl &t &1 G &hi oot gat et gRareft
Y TSI UG el & | T80T ot RIeTTene aRY 7R Gover Shefl et 81 Sfe/hR A G Aiet STTERIRT &l 31 § R
At &1 g w19 gd feam & fAfas § SR Iad1 & at e § o1t 7 Y 9t I 1l Siremie B It Teft o
B &1 WRT STTeRIST AT, U, Hha 3T 8 8T ST & | =iet STTehTT R T hl SToR- g1 ST & | TRy Hepfal
U &Y & Tt o1l 81 ueft Igaem e &1 faafert gedt ur Hew et &1 4R Y S @ Iuee Tt
gt oma &1 et orR-arue el | e g aird &1 1 e § waent #é i A ge 3t 81 g e glaw
a eht I+Tch Sheled! hT STY ST & | UT: ShTeiiF G2 STTcilicheh olTalT ¢ | G SRl Shiwet S1id ¥ gadi # 18
ot ST & & B
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SubQuestion No : 17
Q.17 freeh} o1 & Sua= Siftawa gt sa &2

Ans X 1 wed

o 2 s
X 3. Rigw

X 4. greht

Question ID : 5459276663

Comprehension:

Wep TeIier feam T &1 wwerier & SR R utg uet oy MY €1 TeriRl i eaydes U a1 Uk U H AR
faenedt 7 © 98! faened g1

A3 & SfeehR hl dRenR GF U feel & I glenk ORI 3R Tehrer thefl ST 31 G i oot gait <t gRareft
Y TSI UG el &1 IodT ot RIeTTene aRY 7R Gover Shefl et 81 Sfe/hR H G Aiet STTeRIRT &l 31 & R
&t &1 g w19 g feam & @A § SR Iad1 & at e § oAt 7 Y 9t I 1l Siremier B It Teft o
TG &1 WRT STTeRIST AT, U, Hha 3T 8 8T ST & | =fiet STTehTST IR T hl SToR- g1 ST & | TRy Hepfal
U &Y & Tt o1t 81 ueft ggaem e &1 faafert gudt ur Hew et 1 7R Y e @ IueH et
gt oma &1 et orR-aru el B e g aird &1 1 i § waent #é i & ge 3t 81 g e glaw
I eht I+Tch Sheled! T STY I & | UTd: ShTeii G2 STTcilicheh TTalT ¢ | G SRl Shiwet S1id ¥ gadi # 18
ot ST & & B

SubQuestion No : 18
Q.18 g Y fohvol ammentar & o oR <t &2

Ans  of 1
X 2,78
X 3R
X 4.4

Question ID : 5459276664

Comprehension:

Qe Terier & T €1 ST & YR OR uig U Y MY 1 TR S eaydeh U¢ aUT Udeh U B AR
et § @ 9 faeed g1

3 & SiechR l dvene GF U faer & IcT gt IR SR TeR1eT thetl ST &1 G & oot gat ot gRareft
Y AT UG el &1 gouT ot RIeiTene IRy SR Gover Shefl et 81 SferhR H Gt Atet SITehIer aht I & R
&t 81 g 519 g e # fafasT & SR a1 & ot AT § o1t 1 i St T G SHTehier H Iadt et 3
TG &1 TRT STTERIST AT, U, Toha 37 8 78T ST & | =fiet STTehTT R M hl SToR- g1 S 8| TRy uepfal
Q&0 H T St g1 veft Igag™ onTd 8| fodferat godt tR Hex At 81 iR <t o & IuaH WitaHa
B S 81 gt STum-91e et & e g1 S €1 1f ARaT & waent it e A gen &t &1 9 e g
Tl eht ITch heleAl T ST RIAT & | UTd: Sl =T STTeilfcheh TaT & | G oAl Shivet L1id ®U gl § 8
ot ST & & B

SubQuestion No : 19
Q.19 Iw=F i & 2ftefen T &2

Ans o 1 gafca @ g
75 2. wdemstasm
X 3. e
75 4. s SR

Question ID : 5459276662

Comprehension:

Tep eI foam e &1 werier & SR R utg ue iy MY €1 eI i eaydes ug a1 Uk U H AR
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feneat & & T e g1

3 & sterchR t divene GF U e © I glene IR SR Uh1eT thetl ST &1 G & fonvot gat ot gRareft
T TSI UGTH heelt | godT aht RaetTeny IRT SR Grier thefl &t §1 SferchR # ot el S1Tehrr &l I & R
&t 81 g 519 g feam # faifasT & SR 3o & af AT & ot 37 T St I G SHTemier H Iadt et o
B &1 TRT STl ofTet, e, Tohe &1 F 78T ST &1 et a1repter iR I i dor-t & St 81 art uepfa
9T =9 & T o1t &1 veft Tgaem a1 fafert goit R Hem et &1 iR’ Y it @ Suae diftaw
g1 St &1 Tt sro-oro s # e g wra &1 fy wAifkat § et #idr fia & gen 4t &1 g Se7 g
Gl et ITch heleAl T S RIAT & | UTd: chieli= =T STTeiifches TaT &1 G AT Shivet *1id ¥ gl § 78
&S S R T B

SubQuestion No : 20

Q.20 A & 21ia wu & a1 Aear &2

Ans

75 1. maTEe
of 2. T s
25 3. Aer

X 4. asrge

Question ID : 5459276666






